De Koningh Food Equipment bv.

Exploded view: Sharpener

Concern code rev: 4601 - 1011 - 03

L)

Ny ;

( E K n®
HOLLAND

Pos

Part no.

4301-3403
3701-3481
2101-2065
2201-4837
3401-3805
2201-4805
3301-3812
2301-7020
3301-3810
3201-3270
2101-4035
3301-3813
3401-4241
2201-4842
4601-3761

4401-3124
2101-8051
2101-2108
3201-3275
3201-6095
3301-4246
2201-3016
2201-0028
2101-2082
2101-9218
3401-3802
4301-3405
3701-3212
2101-2080
3201-3272
4301-3404
3301-3810
2101-7068
2101-3175
3201-3271
3301-3816
4601-3716

Qty

RPRRPRPRPRPREPENNRPRNRR

RPRRPRRPRPRRPRPRPNRPRPRPRPRPRPNRREPRRERRER

Description

Grip with Deko name plate
Sharpener cover

Pan head screw M4x12 DIN85
Circlip 7 DIN6799 A3A622409
Bracket

Circlip 5 DIN6799 A3A622409
Collar

Steel ball 1/8"

Spindle bearing

Spring

Counter sunk screw M4x8 DIN963 RVS
Link screw

Link

Circlip 3,2 DIN6799 RVS
Sharpener complete, pos. nrs. 5 up to
and 20 and 25 up and 37
Sharpener lever

Washer A4,3 DIN125

Pan head screw M4x6 DIN85 RVS
Torsion spring

Felt washer

Knob

Grooved pin 4x16 DIN1474 E3E
Cylinder pin 3m6x6 DIN7 E3E

Pan head screw M5x10 DIN85 RVS
Disc spring 12x5,2x0,8 DIN2093
Adjusting plate

Deburring stone with shaft
Sharpener frame

Pan head screw M4x8 DIN85 RVS
Flat spring

Sharpening stone with shaft
Spindle bearing

RVS nut

Screw M5x25 DIN551 E3E
Torsion spring

Sharpener lever spindle
Sharpener assembly, pos.nrs: 16
and 1 up to and 4,21 up to and 2

As of Serialno

622409
628261
622409

622409

622409
622409
622409
622409
622409
622409
622409
622409

622409
622409
622409
622409
622409
622409
632811
622409
622409
622409
622409
622409
622409
622409
622409
622409
622409
622409
622409
622409
622409
622409

622409



